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Aim of Bidding

Partnership

In general, agood hand should bid, and a bad hand should pass
A good hand isone with lots of points (10+), and lots of one suit (five or more)

But the keyis findingagood trump suit for the partnership
This means eight or more trumps between you

| 452 ¥Q753 4KQ543 472
If partner bids 1¥, and you have the hand above, you should support herby bidding 2%

Game

Most contracts are worth about 100 points
Making a game contract is worth about 500 points

With No Trumps you need to bid and make 9 tricks

In the Majors (Hearts and Spades) you need to bid and make 10 tricks
In the Minors (Clubs and Diamonds) you need to bid and make 11 tricks

w N E S
1v | Pass| 4% | Pass

Because of the bonus, it's worth going for game contracts even if that means you sometimes fail
You normally need at least 25 points between two hands forgame, and 8+ trumps in a suit contract

Part Score

All contracts below game are part scores
If you side has fewerthan 25 points you should settle for a part score

w N E S
1v | Pass| 2% | Pass

Sla

Any contract at the six level is a small slam and seven levelagrand slam

| 6%/64/6¥/64/6NT

T%/74/7%/74/7NT

These score about 1000 points if you make it, but costlyif you fail

W N E S
29 Pass | 6% Pass

Sacrifice

When you have bad cards and the opponents have good cards you are likely tolose points
Sometimesitis cheapertosacrifice by deliberately overbidding
This will costyour side points, but notas many as lettingthem make their game

w N E S
1v | Pass | 4v 5&

l



Quiz

Circle all the game bids 2NT  3NT  4NT 3v 4v 3% 4% S5&

How many points doyou win formakinga game? Part score?

Considerthe combined hands below

'North: 4732 ¥QJ42 #K52 #KQJ |
.South: 465 YAKS3 ¢AQ7643 #2

(a) How manytrumpsin: Spades Hearts Diamonds Clubs

(b) Suggesta goodtrump suit

(c) How many high card pointsdo you have altogether?

(d) What isthe best contract forthese hands?

In each case, suggestthe best contract for the partnership whenthey have the following:

(a) Eighthearts betweenthem anda total of 27 points

(b) Strongin all suitsand a total of 26 points

(c) Nine Clubsbetweenthem and atotal of 29 points

(d) Strongin all suitsand a total of 21 points

In each case, countthe points, countthe trumps, and decide onthe best contract

(472 VAA2 0K762 #8743 | | 4732 YQU4 47852 #QU3 | | #AQ32 YQUA #K52 #KI3 |
| 4AKQJS2 YKQS3 ¢98 #A | | 432 VA7S3 #AK764 #K2 | | 475 VAS3 #AJ43 ATO85
Points
Best suit
Contract
Circle all the slam bids S5NT 6NT 7NT 5% (34 (] 7% 6¢
Score

/25




Opening

The first bid thatis not a Passis the opening bid

Standard openings

With 12 or more points you should openthe bidding
In general, you choose your longest suit, notthe one with the high cards init
The reasonfor thisis that high cards inyourshort suits will make tricks whatevertrumpsis

If you have 12-14 pointsand a balanced hand (at leasttwoin each suit) open INT

&Qx YAKIx ¢Qxx #Jxxx | 13 (balanced) | Open1INT
ax YAKQJ ¢KQx SJxxxx 16 Open 1%
#Axxxx YKQxx ¢QJx #x | 12 (unbalanced) | Open 14
AKxx YQOxx ¢Jxx SAJxx 11 Pass

Strong openings

With 20-22 open 2NT if balanced (note that thisis muhc strongerthan a 12-14 INT opening)

With 23+ or a hand so good you can make game on yourown, open 2&
Thisis an artifical or conventional bid and says nothing about Clubs!
Partnerwill recognise itand will not pass (he will bid atleast 24 evenif he doesn’twantto)

&AQ YAKQ ¢Axxxxx #Kx | 22 (balanced) | Open2NT
AAQ YAKQ ¢AKxXxxX #Kx 25 Open2#%
ax ¥ ¢AKQTxxx #AKQxx 18 Open2#

With 20-22 unblalanced choose between openingatthe 1 level, 2NT or 2%

Weak openings

You can open the bidding with aweak hand if you have a lot of cards (six or more) in one suit

Weak Twos — with 5-9 pointsand a six card Diamond/Heart/Spadesuitopen 24/2v/24
Weak Threes — with 5-9 pointsand a seven card Club/Diamond/Heart/Spade suitopen 3&/3¢/3v/34

AQ0x Pxxx #KQxxx #dxxx Pass

A0Qx Pxxx ¢KQxxxx dxx Open2¢

A0Qx Pxx ¢KOQXXXXX FXX Open 3¢

AQx ¥xx ¢xxx % KQJxxx | Pass(remember2#isa stronghand)

With a weak openingyoursuitshould be atleast as strong as ¢ QTxxxx



Quiz

In each case, who has openedthe bidding?

W N E S W N E S w N E S
Pass| 1¥ | Pass| 4¥ Pass | Pass | INT | 2 Pass | Pass | Pass | 2¢

(a) (b) (c)

Decide whetheryou canshould INT

| AA2 YA42 4K762 #QO74 | 4182 YA #KQE2 #KQA3] | aA YK7632 $A962 #Q43.

Points?

Balanced?

Opening

Decide whethertoopen 1¥, 29 or Pass

(a) 4A72 YAI742 47 #QJ74 Points Bid
(b) 452 YAJ7542 ¢7 #QJ74  Points Bid
(C) 4642 YAJ742 62 #A64 Points Bid

Decide whethertoopen 14, 2NT or 2%

(a) 4KQJ972 YA42 ¢7 #AKQ Points Bid
(b) 4KJ972 YA42 #A7 #AKQ Points Bid
(c) 4KQJ972 YAQ4 ¢A #AKQ Points Bid

(a) Make up any hand that should open 1&

(b) Make up any hand that should open INT

(c) Make up any hand that should open 2¢

Selectthe correct openingbid:

(a) #A2 YAJ742 ¢K7 #A974

Score

(b) #AK82 YAK2 #K72 »A74

/25




Responding to 1 level openings

Once your partnerhas opened the bidding, yourreplyto himis called responding
Thisis notthe same as openingthe bidding

Responding to 1&/14/1%v/14

Your partner’s opening shows 12-19 points
You mustrespond with 6+, in case partnerhas 19 in which case your side has 25, enough forgame

If partner opensa major (1% or 14) your priorityisto support
He has shown fourcards of his suit so you can support with four cards too

Respondingto 1¥ with support
2y 6-9 points
3y 10-12
49 13+

You should only respond withanew ssuitat the 2 level (e.g. 1¥-2%) with 10+ points
That means many 6-9 hands must respond INTeven if unbalanced

The list of priorities starts at the top:

Respondingto 1¥ with no support
1a 6+ with Spades
INT 6-9
2NT 10-12 balanced
3NT 13+ balanced
2%/2¢ | 10+ with &/¢

Responses 14/14/14 are similar— prioritise supporting or bidding a major

Responding to 1NT

Your partner has shown 12-14 points

With 12+ you’ve agood hand so go forgame
Eitherbid game directly, else make a strongbid at the three level)

With a weak hand (0-10) and a long suit you can still bid (2%/2¢/2¥/24) and partner will pass

Respondto INT
Pass 0-10
2&6/24/29/24 | 0-10 and longsuit
2NT 10-11 balanced
3%/34/3¥/34 | 12+ strongsuit
3NT 12+ balanced
49/44[58/5¢ | 12+ very strongsuit

With 11 pointsyou can decide whetherto Pass or bid



Quiz

In each case, who has responded?

W

N

E

S

Pass

1v

Pass

49

(a)

Partneropens 1¥. How high do you raise him?

(a) 4Q652 YA942 ¢732 #62 Points
(b) 4KQ92 YA942 ¢732 #A2 Points

(c) 4KQJ2 YA942 732 #32 Points

Partneropens 1¥. You have no support. What do you bid?

(a) 4Q652 YA92 732 #632
(b) 4Q652 YA92 732 #A32
(c) 4762 ¥94 732 #AQT62

(d) 462 YA42 4732 #8732

Partneropens INT showing 12-14 and a balanced hand. What do you bid?

(a) 4Q652 YA952 472 #632
(b) 406532 Y9652 ¢7 #632
(c) 4Q62 YA4 ¢AK32 #8732

(d) K62 YAKQ42 472 #A32

In each case, describe East’s hand

W

N

E

S

1v

Pass

2%

Pass

(a)

W N E S W N E S
INT | 2% 2¥ | Pass Pass | 1% 1¢ 3NT
(b) (c)
Bid
Bid
Bid
Points Bid
Points Bid
Points Bid
Points Bid
Points Bid
Points Bid
Points Bid
Points Bid
W N E S W N E S
1¢ | Pass| 3¢ | Pass 16 | Pass | INT | Pass
(c)
Score

(b)

/25




Responding to 2 level openings

Responding to 2NT

Your partner has shown 20-22 points and a balanced hand

With 0-3 you pass and wish her good luck
With 4+ you’re going for game

Respondto 2NT
Pass Weak hand
3&/34/3v/34 | 4+ pointsand long suit
3NT 4+ points balanced
49/44/5%/5¢ | 4+ points and very long suit

Responding to 2

Your partnerhas 23+ points orequivalent, soyou can’t pass!
With most hands bid 2¢ (which says nothing about Diamonds, it just keeps the bidding alive)

With partner being so strong 8+ is a good hand, and should give a positive reply

Respondto 2#
2¢ 0-7
29/24/3%/3¢ | 8+ strong suit
2NT 8+ balanced

Responding to a Weak Two

Your partner has a weak hand with lots of one suit

If you have help for partner (three or more trumps) you should raise him, even without many points
Your contract may well fail, but bidding makesit hard forthe opposition to find their best contract

You need a stronghand (15+) to bid anythingelse, as partner won’t have much help foryou

Respondto2v
3v Any points, 3+ trumps
av Any points, 4+ trumps

2NT 15-18 points, balanced
3NT 19+ balanced
24/3%/3¢ | 15+ strongsuit

For example: g
#3842 ¥Q973 4KQ543 &2 :

If partner opens 24 then you should raise to 34 (you have three trumps)
If partner opens 2¥ then you would raise to 4¥ (you have four trumps)
If partner opens 24 then be brave and raise to 5¢ (you have five trumps)
If partner opens 3% then pass



1

4.

Quiz

Partner opens 2NT, showing 20-22 balanced. What do you bid?

(a) Q65 ¥942 ¢J732 #Q72 Points Bid
(b) 4942 YAK942 ¢732 #42 Points Bid
(c) 465 YKQ9642 4732 #32 Points Bid

Partneropens 2%, showing 23+ or equivalent. What do you bid?

(a) #7652 ¥942 482 #9762 Points Bid
(b) 4942 ¥K9542 4732 #42 Points Bid
(c) #65 ¥KQJ942 4A32 #32 Points Bid

Partneropens 2¥, showing aweak hand with six Hearts. What do you bid?

(a) #J87652 ¥K32 49 #972  Points Bid
(b) 49752 YAK42 49 #6432 Points Bid
(c) Q75 YAQ3 ¢2 #AK6532 Points Bid
(d) #4QJ875 ¥K3 ¢A4 K32 Points Bid
(e) #AQJ875 ¥3 ¢A43 #A32 Points Bid
(f) #AJ85 ¥3 #KQJT53 #AQ Points Bid
You have this hand: 2QJ742 ¥Q732 4732 *2

What do you respond to each openingbid?

(a) 2% (c) 2%

(b) 2¢ (d) 2NT

Score

/20




Opener’s Rebid

Opener’srebidis hissecond bid, after partner’s response
He can eitherraise partner, bid NT, bid a new suit or rebid his own suit

Types of opening hand

12-14 minimumopening
Opening 1of a suitshows between 12and 19 points 15-17 invitationalhand
This could be a minimum, invitational or maximum opening 18-19 maximum opening

Raise partner

If the partnership has found a fit (a trump suit with 8+ cards betweenthem) openersetsthe level
He bids depending on whether his hand is mininum, invitational or maximum

Rebids after 1¥ and partnerresponds 2% Rebids after 19 and partnerresponds 14
AAXX PIxxxx ¢) #AQxx | Min (12) Pass AAXXX PIxxxx ¢J#AQx | Min (12) | Bid 2
AAXX YAJxxx ¢)J#AQxx | Inv(16) | Rebid 3¥ AAXXX PAIxxx ¢J#AQx | Inv(16) | Bid 34
AAQX YAQJxx ¢x #AQxx | Max (19) | Rebid 4% AAQxx YAQJxx ¢x #AQx | Max (19) | Bid 44

Bid NT

With no support, and a balanced hand bid NT. With 15-17 bid at the cheapest level, with 18-19 jump

Rebids after 1% and partnerresponds 14
AAJX PIxxx ¢Axx #AQx | Inv(16) | Rebid INT
aAxx YAJxx #Kxx #AQx | Max (18) | Rebid 2NT

Bidding a new suit

Withouta fitor a balanced hand you can bid a new suit
With a really good hand you can jump

Rebids after opening 1% and partnerresponds 14
AAXX YQxxxx ¢AQxx #x | Min (12) | Rebid2¢
#Axx YKQxxx ¢AQxx #x | Inv(15) | Rebid2¢
AAQx YAJxxx ¢AQxx %) | Max (18) | Rebid 3¢

Rebidding your suit

When you open the bidding you show four cardsin yoursuit
If you don’t have a fit, or a balanced hand, you can rebid yoursuit, showing six or more cards:

Rebids after 1¥ and partnerresponds 14

aJxx YAQxxxx ¢AJx #x | Min (13) | Rebid2¥
aAJx YAQxxxx ¢AJx &x | Inv(16) | Rebid 3
#AKJ YAQxxxx ¢Alx #x | Max (19) | Rebid 4%




Quiz

1. Classify each opening hand as minimum, invitational or maximum
Decide what you will openthe bidding,and whatyou planto rebid

Points

Min/Inv/Max

Openingbid

Planned rebid

#A2 YAK2 #K762 #Q974

4AQJ72 YAQ4A2 ¢2 #Q74

4AQJO982 YA42 ¢)2 &74

#AQJ982 YA42 ¢A42 &K

2. Youopen1¥. Partnerresponds 14. What do you bid now?

3.

4.

(a) #A972 YAI742 ¢7 £QJ7

Points

Bid

(b) #A972 ¥AJ742 72 #AQ Points

Bid

(c) #AQ72 YAK7542 47 #A2 Points

You open INT

Partnerbids 2. You bid

Partnerbids 2¥. You bid

Partnerbids 2NT. You bid

Partnerbids 3%. You bid

In each case, describe the West hand, interms of shape and points

Bid

| AQU4 YA732 +QUB2 #A2.

W N E S
1v | Pass| 2# [ Pass
2y

(a)

Partnerbids 3¥. You bid

Partnerbids 3NT. You bid

Partnerbids 4¥. You bid

Partnerbids 4NT. You bid

(b)

W N E S W N E S
1v [ Pass | 1& | Pass 1v | Pass | INT | Pass
2% 3%
(c)
Score

/20




General Bidding

Limit bids

Respondingtoan openingbid shows 6+ points
Partnerdoesn’tknow how strongyou are until you make a limitbid, which limits your strength

Alimitbidiseitheraraise of a trumpsuit, a NT bid, or rebidding your suit

W | E W | E W | E W | E
1v | 2v 1v | INT 1v | 3v 1v | 2NT
Eastis limited to 6-9 points Eastis limited to 10-12 points

Invitational bids

A bid one level below game (such asthe 3¥ and 2NT responses above) is called invitational

It invites partnerto bid game if they have a good hand, or pass with a bad hand
Of course good and bad is relative to what you have shown so far

North: KI732 ¥Q942 K5 #J3 15, 3N,
.South: 465 WAKT65 472 #AKQ2 | 5

South opens 1¥. North has 10 pointssoinvites with 3¥

South has 16 pointssoaccepts the invite and bids the game with 4%
If South had an Ace less (only 12 points) he would refuse the invite and pass 3¥

Forcing bids

A bidfroma hand whichisnot limitedis called forcing
Forcing means partneris not allowed to pass, because you could have a really good hand

You don’twantto end up in a contract that’s too low, 24+2 is not a good score!

Bids of new suits are forcing. All of East’s bids below are forcing:

W | E W | E W E
1v | 1a 1v | 2% INT | 3v

> | =
m

3y

In the example below South opens 2# (23+ points) which is forcing.
North must not pass, and they should reach 44

'North: 4432 ¥82 #9765 #8653
South: #AKQT2 YAKT2 ¢AK2 42

Sign-off bids

A sign-off bid is one you expect partnerto pass
Thisis typically agame bid, forexample after 1¥-4¥ openershould pass as4¥ is a sign-off



Quiz

In each case, East has made a limitbid. Describe his hand, in terms of suits and points

w N E S w N E S w N E S
1v | Pass| 2NT | Pass 1v | Pass | 2¥ | Pass 1v | Pass| 3¥ | Pass

(a) (b) (c)

In each case, East has made a forcing bid. Describe his hand, interms of suits and points
w N E S w N E S w N E S
1v | Pass| 14 | Pass INT | Pass | 3% [ Pass 29 | Pass | 2& | Pass

(a) (b) (c)

You opened INTand partner made a 2NT invitational bid. Should you accept and bid 3NT?

(a) #KJ32 vQ942 K52 #K3 (b) #AJ32 vQ942 ¢AJ2 #Q3

You opened 1¥ and partner made a 3¥ invitational bid. Should you acceptand bid 4¥?

(a) #KJ32 vQ942 #K52 #AQ (b) #KQ2 ¥J9432 ¢K532 &K

In each auction, which bids are limit bids, forcing bids, invitational bids or sign -off bids?
w N E S w N E S w N E S
1v | Pass| 1 | Pass 1% | Pass | 1¥ | Pass 2% | Pass | 24 | Pass
2v | Pass| 3% | Pass le | Pass| 44 | Pass 54 | Pass

1a: 1v: 2%:

29:. 1a: 26:

3v: 44 5a:

For each auction above, describe the West and East hands as bestyou can

Score

/30




Glossary

Balanced hand — has at leasttwo cards in each suit, suchas 4#AJ32 ¥Q942 ¢AJ2 %93

Forcing bid — a bid that partner cannot pass, such as opening 2&

Game — a high contract that scores a bonus: 3NT, 49, 44, 5& or 5¢

Grand slam —any seven levelcontract, such as 7¥, where you need to take all the tricks
Invitational bid — a bid one below game, like 3¥ in 1¥-39, inviting partnerto bid game or pass
Maximum opening— a very good 1 level openingbid, in the 18-19 pointrange

Major suit — Hearts or Spades

Minor suit— Clubs or Diamonds

Minimum opening—a poor1 level openingbid, in the 12-14 point range

Limit bid — a bid that puts a limit on your points, forexample 3¥ in 1¥-3¥ shows 10-12 points
Part score — any contract below game, such as 1NT, 2¥ or 4%

Sacrifice — a bidthat is expected tofail, but costless points than lettingthem make game
Small slam —any sixlevel contract, such as 6¢. Almost all slams are small slams

Sign off — a bid that you expect partnerto pass, such as 3NTin INT—3NT

Unbalanced — a hand that is not balanced, such as #AJ732 ¥Q942 ¢AJ2 #3

WeakTwo —for example opening 24 with 4AQJ732 ¥942 4)32 #3, 5-9 pointsand 6 spades

Weak Three — for example opening 34 with 4AQJ8732 ¥942 ¢J2 #3, 5-9 pointsand 7 spades



Notes
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